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Directions (1-5): Read the following 

information carefully to answer the 

following questions. 

  

Eight employees A, B, C, D, E, F, G 

and H are sitting around a circular 

table facing the centre. They are 

different in profession. They are 

visiting different places viz., 

Lucknow, Gurgaon, Delhi, Mumbai, 

Ahmedabad, Bangalore, Hyderabad, 

Kochi. 

 

A who is a doctor by profession is 

going to Lucknow. E is neither CA 

nor a lawyer but is sitting opposite to 

CA. C is second to right of G who is 

an engineer. F is either Director or 

CA and is going to Mumbai. Neither 

CA nor Graphic Designer goes to 

Mumbai. H, a Graphic Designer is 

third to right of C. B is an artist and is 

going to Hyderabad. CA and Director 

are sitting adjacent to each other. F, a 

Director is sitting second to left of B 

and also second to right of C. The 

Teacher is going to Bangalore. 

Engineer is going to Gurgaon while 

Graphic Designer is going to Delhi. D 

is not going to Ahmedabad. 

 

Q1.Who is the teacher? 

(A) D 

(B) E 

(C) A 

(D) B 

(E) Data inadequate 

Ans1. (B) E 

 

Q2.Who is going to Ahmedabad? 

(A) C 

(B) D 

(C) E 

(D) F 

(E) H 

Ans2. (A) C 

  

Q3.What is D’s profession? 

(A) Lawyer 

(B) Teacher 

(C) CA 

(D) Cannot be determined 

(E) None of these 

Ans3. (C) CA 

 

Q4.How many persons are sitting 

between lawyer and engineer when 

counting clockwise from engineer? 

(A) 2 

(B) 3 

(C) 4 

(D) 5 

(E) Cannot be determined 

Ans4. (D) 5 

 

Q5.Who is third to left of Director? 

(A) Lawyer 

(B) Doctor 

(C) Engineer 

(D) Data inadequate 

(E) None of these 

Ans5. (B) Doctor 

Explanation (1-5): 
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Direction (6-10):- Read the 

information given below and 

answer the questions that follow. 

Eight students Q, J, U, I, D, R, F and 

V are sitting in a straight line facing 

north. They are ranked according to 

their performance in the recently 

concluded Maths test. Two persons sit 

between U and the one who got fifth 

highest marks. J got third highest 

marks in the test. The immediate 

neighbours of R got highest and 

fourth highest marks in the test. The 

one who got more marks sits on the 

left side of R. Both the neighbours 

don’t sit on either end. U and the one 

who got second highest marks can’t 

sit on the middle seats. Q, who got the 

highest marks, sits third to the left of 

V. Two persons sit between D and F. 

The latter got less marks than the 

former. I sits to the immediate left of 

one who got fourth lowest marks. 

Neither I nor R got the lowest marks. 

I didn’t get third lowest marks. 

Q 6. If all the persons sit in the order 

of marks obtained in the test starting 

from the one who got highest marks at 

left end, who will sit at the third seat 

from the right? 

(A) R  (B) J 

(C) I  (D) D 

(E) Can’t determine 

Ans6. (A) R  

Q7. Who among the following sits 

third to the left of I? 

(A) U  (B) Q 

(C) R  (D) D 

(E) No one 

Ans7. (E) No one 

 

Q 8. How many persons perform 

poorer than R? 

(A) Two  (B) Five 

(C) Three (D) Four 

(E) Six 

Ans8. (A) Two  

 

Q 9. Who among the following is the 

immediate neighbour of Q? 

(A) I  (B) F 

(C) D  (D) V 

(E) U 

Ans9. (B) F 

 

Q 10. Who among the following 

persons is not sitting at one of the 

extreme end? 

(A) U 

(B) One who got the 2nd highest 

marks 

(C) One who got the lowest marks 

(D) V 

(E) F 
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Ans10. (E) F 

 

 

  

Directions (11-15):- Read the 

following information and answer 

the given questions. 

Eight people A, B, C, D, E, F, G and 

H are sitting in a straight line facing 

North. Each of them has passed a 

recruitment exam and must join the 

office in different months, viz 

January, February, March, April, 

May, June, July and August but not 

necessarily in the same order. 

G sits third to the right of the person 

who joins in May. The person who 

joins in August sits second the right of 

G. Neither A nor E has joining dates 

in either May or August. A and E are 

immediate neighbors of each other. 

Neither A nor E is an immediate 

neighbor of G. H sits third to the right 

of the person whose joining date is 

January. Neither A nor E has joining 

dates in January. H’s joining date is 

not in August. Only two people sit 

between E and the person whose 

joining date is in July. The person, 

whose joining date is in February sits 

on the immediate left of D. Only one 

person sits between E and B. C joins 

before July. E joins after April. G 

joins After A. 

Q 11. In which of the following 

months does H join the office? 

(A) April  (B) June 

(C) July  (D) February 

(E) March 

Ans11. (D) February 

 

Q 12. Who among the following sits 

exactly between E and B? 

(A) The person whose joining date 

is in May 

(B) The person whose joining date is 

in January 

(C) D 

(D) A 

(E) The person whose joining date is 

in August 

Ans12. (A) The person whose 

joining date is in May 

 

Q 13. Which of the following is true 

regarding D? 

(A) Only two people sit to the left of 

D 

(B) D is sitting second to the right of 

the person whose joining is in July 

(C) E and B are immediate neighbors 

of D 

(D) D’s joining date is in May 

(E) None of the Above 

Ans14. (E) None of the Above 

 

Q 14. How many people sit between 

C and the person whose joining date 

is in April? 

(A) None (B) One 

(C) Two  (D) Three 

(E) Four 

Ans14. (C) Two    
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Q 15. Who among the following are 

sitting at the extreme ends of the line? 

(A) A and the person whose joining 

date is in August 

(B) The person whose joining date is 

in May and E 

(C) C and G 

(D) The persons whose joining dates 

are in March and June 

(E) None of these 

Ans15. (A) A and the person whose 

joining date is in August 

 

 

Directions (16-20):- In a certain 

number system there are only two 

notations to represent numbers: 

Eight persons A, B, C, D, E, F, G and 

H are sitting around a square table, 

four persons sit on four sides of the 

table and other four sit on the corners 

of the table, but not necessarily in the 

same order. Some of them are facing 

the centre and some of them are 

facing away from the centre. Out of 

them, six are Batsman and one is 

Caption and one is Coach. Those six 

Batsman went to Bangalore for 

Training on different days in a week 

starting from Monday to Saturday. 

The Caption and Coach didn’t go to 

Bangalore. The    following 

information is known about them. 

a) H who sits on one of the corners 

and went on Thursday is facing away 

from centre. 

b) A who is a Caption and C are 

sitting diagonally opposite to each 

other. 

c) B is sitting third to the left of E and 

E is facing centre. 

d) H sits to the immediate left of the 

one who went on Monday who sits to 

the opposite to the one who went on 

Wednesday and they’re facing 

towards each other. 

e) D is opposite to F but they face in 

opposite directions and D's 

neighbours face in opposite directions 

to each other. 

f) The Caption, not facing centre, is 

not sitting with the one who went on 

Wednesday but sitting with the Coach 

who is facing in direction that is 

opposite to that of A. 

g) C went on the next day of F and 

they sit together facing in the same 

direction. F went neither on Monday 

nor on Tuesday 

 

Q 16. Which of the following is 

sitting third to left of B? 

(A) C 

(B) D 

(C) E 

(D) Can’t be determine 

(E) None of these 

Ans16. (A) C 

 

Q 17. Who is going on Wednesday? 
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(A) C  (B) B 

(C) D  (D) G 

(E) None of these 

Ans17. (D) G 

 

Q 18. Which of the following 

combination is False? 

(A) B – inside – Monday 

(B) G – Inside – Wednesday 

(C) E – outside – Tuesday 

(D) H – outside – Thursday 

(E) All are true 

Ans18. (C) E – outside – Tuesday 

 

Q 19. How many player facing 

inside? 

(A) 4  (B) 3 

(C) 2  (D) 5 

(E) None of these 

Ans19. (B) 3 

 

Q 20. Who going on Tuesday? 

(A) E  (B) B 

(C) D  (D) G 

(E) None of these 

Ans20. (A) E 

DIRECTION (16-20):- 

  
 

Directions (21-25):- Study the 

following information carefully and 

answer the questions given below. 

Fourteen persons Ned, Catelyn, Rob, 

Sansa, Jon, Arya, Bran, Rickon, 

Cersie, Jamie, Theon, Tywin, Tyrion, 

and Oberyn are sitting in two rows 

with seven persons in each row (but 

not necessarily in the same order). 

The persons in row one are facing 

south and the persons in row two are 

facing north. Each person in row one 

faces a person from the other row. All 

of them have mobile phones of 

different brand namely Apple, 

Gionee, HTC, iball, Lava, Lenovo, 

Micromax, Motorola, Nokia, Oppo, 

Samsung, Sony, Spice and Vivo (but 

not necessarily in the same order). 

Sansa is sitting third to the left of Ned 

and none of them is sitting on the 
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corner. Arya is facing north and 

sitting second to the right of the one 

who has Spice mobile. Tyrion has a 

Lenovo mobile and sitting on the right 

corner. Bran owns a Micromax 

mobile. There are two people between 

Arya and Tyrion. The one who has a 

vivo sits opposite the one who has 

Sony, who is second to the right of 

Arya. Oberyn doesn’t have Samsung 

phone. The one who has a Samsung 

mobile is facing south and sitting on 

the corner. Jamie has a Nokia phone 

and sits third from the left corner. 

Tywin sits on the immediate right of 

Catelyn and none of them is sitting on 

the corner. Ned has a Motorola 

mobile and he sits together with the 

one who has Samsung mobile. Jon is 

sitting on the corner and has iball 

mobile. Rob sits opposite to Jamie. 

The one who sits second to the right 

of Jon has Lava mobile. The one who 

has Oppo mobile is not facing south 

and sitting opposite to the one who 

has a Gionee. Cersie sits together with 

the one who has Apple mobile. 

Rickon and Oberyn are facing in the 

same direction. 

 

Q 21. Which brand of mobile does 

Catelyn have? 

(A) Samsung (B) Oppo 

(C) HTC  (D) Spice 

(E) Sony 

Ans21. (C) HTC 

 

Q 22. Who two sit together from the 

following pairs? 

(A) Jamie and Tyrion 

(B) Oberyn and Cersie 

(C) Cersie and Jamie 

(D) Theon and Ned 

(E) Tywin and Tyrion 

Ans22. (E) Tywin and Tyrion 

 

Q 23. Who two sit second from the 

left in their respective rows? 

(A) Tywin and Ned 

(B) Jamie and Rickon 

(C) Theon and Ned 

(D) Oberyn and Theon 

(E) Sansa and Jamie 

Ans23. (D) Oberyn and Theon 

 

Q 24. Who has Spice mobile? 

(A) Theon (B) Rickon 

(C) Tywin (D) Oberyn 

(E) Cersie 

Ans24. (A) Theon 

 

Q 25. Who sits opposite to Sansa? 

(A) Tywin (B) Catelyn 

(C) Theon (D) Oberyn 

(E) Arya 

Ans25. (B) Catelyn 

 

Directions (26-30) : Study the 

following information carefully and 

answer the questions given below: 

     Eight persons A, B, C, D, W, X, Y 

and Z are sitting in a straight line 

facing the South. All of them belong 
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to different states viz— Bihar, UP, 

MP, Rajasthan, Haryana, Tripura, 

Goa and Assam but not necessarily in 

the same order. 

     Z sits third to the left of the one 

who belongs to Goa. The one who 

belongs to MP sits immediate right of 

the one who belongs to Goa. C sits 

second to the right of the one who 

belongs to MP. The one who belongs 

to UP sits second to the left of the one 

who belongs to Assam. Neither Z nor 

C belongs to Assam. Only two people 

sit between X and the one who 

belongs to MP. The one who belongs 

to Bihar and the one who belongs to 

Tripura are immediate neighbours. Z 

does not belong to either Bihar or 

Tripura. A sits second to the left of 

the one who belongs to Bihar. There 

are two people sitting between B and 

the one who belongs to Rajasthan. Z 

does not belong to Rajasthan. X and Z 

are immediate neighbours. W sits 

second to the right of the one who 

belongs to Bihar. The one who 

belongs to Rajasthan sits on one of the 

extreme end of the line. Y is an 

immediate neighbour of the one who 

belongs to Goa. 

 

Q 26. Four of the following five are 

alike in a certain way and so form a 

group. Which one does not belong to 

that group ? 

(A) W – Bihar (B) B – Tripura  

(C) D – Goa  (D) Y – UP  

(E) A – Haryana 

Ans26. (B) B – Tripura 

Q 27. Which of the following 

statements is true ? 

(A) The one who belongs to MP sits 

at one of the extreme ends of the line. 

(B) Z belongs to UP. 

(C) D is an immediate neighbour of 

Y. 

(D) All are true. 

(E) None is true 

Ans27. (B) Z belongs to UP. 

 

Q 28. Which of the following 

statements is/are NOT true? 

(A) The one who belongs to Goa is 

the immediate neighbour of the one 

who belongs to MP. 

(B) The person belonging to Bihar is 

second to the left of the one who is 

immediate right to the person 

belonging to Tripura. 

(C)The person belonging to 

Haryana sits immediate right to Z 

and immediate left to the person 

belonging to Goa. 

(D) All are true 

(E) None of these 

Ans28. (C)The person belonging to 

Haryana sits immediate right to Z 

and immediate left to the person 

belonging to Goa. 

 

Q 29. Who amongst the following sits 

second to the left of the one who 

belongs to Assam ? 

(A) The one who sits on immediate 

right of the one who belongs to Goa. 

(B) The one who sits second to the 

left of D. 
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(C) The one who sits exactly between 

A and D. 

(D) The one who belongs to UP. 

(E) None of these 

Ans29. (D) The one who belongs to 

UP. 

 

Q 30. How many people sit between 

C and the one who belongs to 

Haryana? 

(A) None 

(B) Same as the number of people 

sitting between A and the one who 

belongs to Rajasthan. 

(C) Same as the number of people 

sitting between the one who belongs 

to Assam and W. 

(D) Same as the number of people 

sitting between A and the person 

belonging to UP. 

(E) None of these 

Ans30. (C) Same as the number of 

people sitting between the one who 

belongs to Assam and W. 

 

 

 

Directions (31-35):- Read the 

information given below and 

answer the questions that follow. 
John, Rinky, Cook, Dora, Chris, Rani, 

Pawan and Manas are sitting in a 

straight line equidistant from each 

other (but not necessarily in the same 

order). Some of them are facing South 

while some are facing North. (Note: 

Facing the same direction means, if 

one is facing North then the other also 

faces North and vice-versa. Facing the 

opposite directions means, if one is 

facing North then the other faces 

South and vice-versa) John faces 

North. Only two people sit to the right 

of John. Rinky sits third to the left of 

John. Only one person sits between 

Rinky and Rani. Rani sits to the 

immediate right of Chris. Only one 

person sits between Chris and Manas. 

Both the immediate neighbours of 

Rinky face the same direction. Cook 

sits third to the left of Rani. Rinky 

faces the opposite direction as John. 

Pawan does not sit at any of the 

extremes ends of the line. Dora faces 

the same direction as Chris. Both 

Pawan and Cook face the opposite 

direction of Manas. 

 

Q 31. How many persons in the given 

arrangement are facing North? 

(A) More than four 

(B) Four 

(C) One 

(D) Three 

(E) Two 

Ans31. (B) Four 

 

Q 32. Four of the following five are 

alike in a certain way, and so form a 

group. Which of the following does 

not belong to the group? 

(A) Chris, Rani (B) Manas, Pawan 

(C) Rinky, John (D) Rinky, Pawan 

(E) Dora, Cook 

Ans32. (D) Rinky, Pawan 
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Q 33. What is the position of Rani 

with respect to Manas? 

(A) Second to left 

(B) Third to the right 

(C) Third to the left 

(D) Fifth to the right 

(E) Second to the right 

Ans33. (B) Third to the right 

 

Q 34. Who amongst the following sits 

exactly between Manas and Chris? 

(A) Rinky (B) Pawan 

(C) Rani  (D) Chris 

(E) Cook 

Ans34. (A) Rinky 

 

Q 35. Who is sitting second to the 

right of Rinky? 

(A) Manas (B) Dora 

(C) Rani  (D) Chris 

(E) None of the above 

Ans35. (B) Dora 

 

 

 

Directions (36-40) : Study the 

following information carefully to 

answer the given questions.  
     Eight person from different 

countries viz.. USA, India, UK, 

Australia, China, Nepal,Switzerland 

and Russia are sitting in two parallel 

rows containing four people each, in 

such a way that there is an equal 

distance between adjacent persons. In 

row-1 Michael Jackson, Lady Gaga, 

Justin Bieber and Jennifer Aniston are 

seated and all of them are facing 

south. In row-2 Johnny Deep, Will 

Smith, Katy Perry and Beyonce are 

seated and all of them are facing 

north. Therefore, in the given sitting 

arrangement each member seated in a 

row faces another member of the 

other row. (All the information given 

above does not necessarily represent 

the order of seating as in the final 

arrangement). Justin Bieber sits 

second to the right of the person from 

Russia. Katy Perry is an immediate 

neighbor of the person who faces the 

person from Russia. Only one person 

sits between Katy Perry and the 

person from UK. Immediate neighbor 

of the person from UK faces the 

person from Switzerland. The person 

from USA faces the person from 

China. Katy Perry is not from China. 

Johnny Depp is not from UK. Johnny 

Depp does not face the person from 

Russia. Will Smith faces the person 

from Australia. The one who faces 

Beyonce sits to the immediate left of 

Michael Jackson. Lady Gaga does not 

sit at any of the extreme end of the 

line. The person from Russia does not 

face the person from India.  

 

Q 36. Which of the following is true 

regarding Michael Jackson?  
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(A) The person from USA faces 

Michael Jackson.  

(B) The person from Russia is an 

immediate neighbour of Michael 

Jackson.  

(C) Michael Jackson faces the person 

who sits second to the right of Katy 

Perry  

(D) Michael Jackson is from China  

(E) Michael Jackson sits at one of the 

extreme ends of the line  

Ans36. (B) The person from Russia 

is an immediate neighbour of 

Michael Jackson.  

 

Q 37. Who is seated between Katy 

Perry and the person from UK ?  

(A) The person from China  

(B) Johnny Depp  

(C) Will Smith  

(D) The person from India  

(E) Beyonce  

Ans37. (E) Beyonce  

 

Q 38. Who amongst the following sit 

at extreme ends of the rows?  

(A) Jennifer Aniston and the person 

from UK  

(B) The person from Nepal and USA  

(C) The person from Australia and 

Johnny Depp  

(D) The person from India and 

Jennifer Aniston  

(E) Justin Bieber, Will Smith  

Ans38. (D) The person from India 

and Jennifer Aniston  

 

Q 39. Who amongst the following 

faces the person from Russia?  

(A) The person from Nepal  

(B) Johnny Depp  

(C) Katy Perry  

(D) The person from India  

(E) The person from Switzerland  

Ans39. (A) The person from Nepal  

 

Q 40. Johnny Depp is related to 

Australia in the same way as Lady 

Gaga is related to UK based on the 

given arrangement. To who amongst 

the following is Jennifer Aniston 

related to, following the same pattern?  

(A) India  (B) Switzerland  

(C) Russia  (D) Nepal  

(E) China  

Ans40.(D) Nepal 

 

Explanation (36-40):  

 

Direction (41-45): Read the 

following information carefully. 

And answer the following questions 

given below. 

 

Some employees are sitting around a 

circular table facing towards the 

centre of the table. The distance is 

equal among all the employees and 
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number of employees was not more 

than 18 employees. 

Number of employees between Samar 

and Sourav  when counted from left 

of Samar was thrice as that of the 

number of employees seated between 

Samar and Sohail when counted from 

right of Samar. Sohail and Sourav are 

neighbours of each other. Sandy was 

seated to the immediate left of Soham 

and three employees are sitting 

between Soham and Sandeep. Sohail 

was third to the right of Sandeep. 

Sanju  was second to the right of 

Sameer and second to the left of 

Sandy. Sohail  is to the immediate left 

of Sourav. 

 

Q41.How many employees are 

present in the above arrangement? 

A) Eleven 

B) Fifteen 

C) Seventeen 

D) Thirteen 

E) Fourteen 

Ans41.  B) Fifteen 

 

Q42. How many employees sit 

between Sohail and Soham when 

counted in anti – clockwise 

direction from Sohail? 

A) Five 

B) Seven 

C) Six 

D) Nine 

E) Cannot be determined 

Ans42. B) Seven 

 

Q43.Who among the following pairs 

are immediate neighbours of each 

other? 

A) Sohail-Sameer 

B) Samar-Sandeep 

C) Soham-Sanju 

D) Soham-Sameer 

E) None of these 

Ans43. B) Samar-Sandeep 

 

Q44. What is the position of Sohail 

with respect to Sameer? 

A) Second to the right 

B) Third to the Right 

C) Second to the left 

D) Third to the left 

E) Immediate right 

Ans44. D) Third to the left 

 

Q45. How many employees sit 

between Samar and Sameer when 

counted in clockwise direction from 

Samar? 

A) Seven 

B) Five 

C) Six 

D) Four 

E) Cannot be determined 

Ans45. A) Seven 

Explanation (41-45): 
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Direction (46-50): Read the 

following information carefully. 

And answer the following questions 

given below. 

 

Eight Actresses viz. Alia Bhatt, Kriti 

Sanon, Shruti Haasan, Sonam Kapoor, 

Shraddha Kapoor, Rakul Preet Singh, 

Parineeti Chopra  and Yami Gautam 

are sitting around a circular table such 

that four of them faces away from the 

center and the rest are facing towards 

the center, but not necessarily in the 

same order. They like different dance 

forms i.e., Kathak, Break Dance, Pole 

Dance, Salsa, Belly Dance, Folk 

Dance, Bharatnatyam and Tap Dance, 

but not necessarily in the same order. 

Two actresses sitting adjacent to each 

other do not face in the same direction 

and so on. Alia Bhatt sits third to the 

left of Parineeti Chopra, who likes 

Pole Dance. Kriti Sanon sits third to 

the right of Alia Bhatt, who sits 

immediate left of Sonam Kapoor. 

Parineeti Chopra does not sit opposite 

to Sonam Kapoor. The one who likes 

Belly Dance sits adjacent to the one 

who likes Pole Dance and 

Bharatnatyam. Shraddha Kapoor 

doesn’t faces outside and sits third to 

the left of one, who likes Belly Dance. 

The one who likes Folk Dance sits 

second to the left of one, who likes 

Salsa. Sonam Kapoor does not like 

Folk Dance and Bharatnatyam. Shruti 

Haasan is not an immediate neighbor 

of Alia Bhatt and Parineeti Chopra. 

Sonam kapoor  faces the one who 

likes Bharatnatyam.The one who likes 

Kathak sits opposite to Rakul Preet 

Singh. Shraddha Kapoor does not like 

Break Dance and Folk Dance. Alia 

Bhatt does not like Kathak. 

 

Q46. Which of the following likes 

Tap Dance? 

A. Shraddha Kapoor 

B. Yami Gautam 

C. Alia Bhatt 

D. Shruti Haasan 

E. None of these 

Ans46. A. Shraddha Kapoor 

 

Q47. Which of the following dance 

form is liked by the one who sits 

opposite to Alia Bhatt? 

A. Kathak 

B. Belly Dance 

C. Salsa 

D. Folk Dance 

E. None of these 

Ans47. B. Belly Dance 

 

Q48.Who among the following faces 

the one who sit immediate left to the 

one who likes Folk Dance? 

A. Kriti Sanon 

B. Yami Gautam 

C. The one who likes Pole Dance 

D. Shruti Haasan 

E. None of these 

Ans48. E. None of these 

 

Q49.Four of the following five 

belongs to a group, find the one that 

does not belong to that group? 

A. Rakul Preet Singh -Folk Dance 
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B. Yami Gautam -Belly Dance 

C. Alia Bhatt -Salsa 

D. Shruti Haasan -Bharatnatyam 

E. Sonam Kapoor -Break Dance 

Ans49. D. Shruti Haasan -

Bharatnatyam 

 

Q50. Who among the following 

faces Shruti Haasan? 

A. Sonam Kapoor 

B. Yami Gautam 

C. Kriti Sanon 

D. Parineeti Chopra 

E. None of these 

Ans50. E. None of these 

Explanation (46-50): 

 
Direction (51-55): Read the 

following information carefully. 

And answer the following questions 

given below. 

Eight cats i.e. C1, C2, C3, C4, C5, 

C6, C7 and C8 are sitting around a 

rectangular table. Cats sitting at the 

centre of the sides are facing towards 

inside and are of different colours. 

i.e., pink, brown, white and grey. 

Those sitting at the corner are facing 

towards outside the table and likes 

different colours i.e., Orange, Black, 

red and Blue. All information are not 

necessarily in the same order. 

C4 sits second to the right of C8. C2 

and C4 do not like Blue. C6 do not 

like orange. Two persons sit between 

C8 and C5, who likes black. The one 

who faces C3 is of grey colour. C6 

does not sit opposite to one who likes 

blue. C2 and C3 are immediate 

neighbors of C5. C3 is of pink colour 

and sits immediate left of the one who 

likes orange. C2 faces C4. C7 does 

not sit opposite to C5 and is not an 

immediate neighbor of the one who is 

of pink colour. C4, and the immediate 

neighbors of C4 does not of white 

colour.  C6 likes red. 

 

Q51. How many cats sit between the 

one who is of grey colour and C3? 

A. One 

B. Two 

C. Three 

D. Four 

E. None 

Ans51. C. Three 

 

Q52.Which of the following 

statement is true about C1? 

A. C1 sits immediate left of C4. 

B. C6 is immediate neighbor of C1. 

C. C8 faces C1. 

D. C3 sits immediate left of C1. 

E. None 

Ans52. D. C3 sits immediate left of 

C1. 

 

Q53. Four of the following five are 

alike in a certain way based on a 

group, which of the following does 

not belong to that group? 
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A. C5 

B. C1 

C. C7 

D. C8 

E. C6 

Ans53. D. C8 

 

Q54. Who among the following sits 

opposite to the one who likes red? 

A. C5 

B. C2 

C. C7 

D. C8 

E. None of these 

Ans54. A. C5 

 

Q55. Who sits exactly between C5 

and C7? 

A. C1 

B. C6 

C. C8 

D. The one who is of white colour 

E. None of these 

Ans55. D. The one who is of white 

colour 

 
 

Direction (56-60): Read the 

following information carefully. 

And answer the following questions 

given below. 

Twelve models are sitting in two 

parallel rows containing six models 

each such that they are equidistant 

from each other. In row 1, 

Priyadarshini Chatterjee, Aditi Arya, 

Suman Rao, Angelina Jolie, Manushi 

Chhillar and Navneet Kaur are sitting 

facing South. In row 2, Tanushree 

Dutta, Neha Dhupia, Ami Vashi, 

Priyanka Chopra, Vanya Mishra and 

Kanishtha Dhankar are sitting facing 

North. Therefore, in the given seating 

arrangement, each member sitting in a 

row faces another member of the 

other row. Three models sit between 

Suman Rao and Angelina Jolie. Either 

Suman Rao or Angelina Jolie sits at 

an extreme end of the line. The one 

who faces Angelina Jolie sits third to 

the left of Ami Vashi. Priyanka 

Chopra faces the one who sits third to 

the left of Priyadarshini Chatterjee 

and he cannot sit adjacent to Ami 

Vashi. The immediate neighbour of 

Neha Dhupia faces the immediate 

neighbour of Priyadarshini Chatterjee. 

Only one person sits between 

Tanushree Dutta and Vanya Mishra, 

who is facing the one sitting on the 

immediate right of Manushi Chhillar. 

Neither Manushi Chhillar nor 

Navneet Kaur faces Ami Vashi. 

Kanishtha Dhankar and Neha Dhupia 

cannot sit adjacent to each other. 

 

Q56. Who among the following sit 

at the extreme ends of the rows? 

A. Angelina Jolie, Neha Dhupia 

B. Vanya Mishra, Navneet Kaur 

C. Manushi Chhillar, Priyanka 

Chopra 
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D. Aditi Arya, Vanya Mishra 

E. Navneet Kaur, Neha Dhupia 

Ans56.   B. Vanya Mishra, Navneet 

Kaur                          

 

Q57. If Manushi Chhillar is related 

to Tanushree Dutta in the same way 

as Suman Rao is related to 

Priyanka Chopra, which of the 

following is Priyadarshini 

Chatterjee related to, following the 

same pattern? 

A. Kanishtha Dhankar 

B. Ami Vashi 

C. Neha Dhupia 

D. Vanya Mishra 

E. Can’t be determined 

Ans57. B. Ami Vashi 

 

Q58. How many models are sitting 

between Manushi Chhillar and 

Navneet Kaur? 

A. None 

B. One 

C. Two 

D. Three 

E. Four 

Ans58. D. Three 

 

Q59. Four of the following five are 

alike in a certain way based on the 

given arrangement and so form a 

group. Which is the one that does 

not belong to that group? 

A. Tanushree Dutta–Angelina Jolie 

B. Neha Dhupia–Priyadarshini 

Chatterjee 

C. Neha Dhupia–Navneet Kaur 

D. Priyanka Chopra–Aditi Arya 

E. Vanya Mishra– Priyadarshini 

Chatterjee 

Ans59. C. Neha Dhupia–Navneet 

Kaur 

 

Q60. Which of the following is true 

regarding Tanushree Dutta? 

A. Neha Dhupia is an immediate 

neighbour of Tanushree Dutta. 

B. Tanushree Duttafaces the 

immediate neighbour of Aditi Arya 

C. Tanushree Duttasits second from 

the left end of the row 

D. Tanushree Duttasits at one of the 

extreme ends. 

E. Tanushree Duttafaces the one who 

is second from the right end of the 

row. 

Ans60. B. Tanushree Dutta faces the 

immediate neighbour of Aditi Arya. 

 

Explanation (56-60): 

 
 

Direction (61-65): Read the 

following information carefully. 

And answer the following questions 

given below. 

Top ten Directors viz. Farhan Akhtar, 

Karan Johar, Rakesh Roshan, Anurag 

Kashyap, Dibarkar Banerjee, Mahesh 

Bhatt, Mani Ratnam, Milan Luhria, 

Imtiaz Ali and Prabhu Deva of 
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Bollywood are sitting in a row facing 

north for price distribution ceremony. 

All of them got positions as 1st, 2nd, 

3rd and so on up to 10th as per their 

performance in exam but not 

necessarily in the same order. Prabhu 

Deva sits an extreme right end and 

does not get 2nd and 4th position. 

Rakesh Roshan sits third to the left of 

Mani Ratnam who sits third to the left 

of Anurag Kashyap. The immediate 

neighbour ofAnurag Kashyap got 2nd 

position. Karan Johar sits second to 

the right of Farhan Akhtar, who got 

the 5th position. Both Rakesh Roshan 

and Mahesh Bhatt are immediate 

neighbour of each other but none of 

them sits at an extreme end. The one 

who got 1st position sits between the 

one who got 5th and 7th position. 

Karan Johar is not an immediate 

neighbour of Anurag Kashyap. 

Dibarkar Banerjee sits fourth to the 

right of Mahesh Bhatt. Milan Luhria 

got 3rd position and is not an 

immediate neighbour of Rakesh 

Roshan. The one who got 8th position 

sits at an extreme left end. Mahesh 

Bhatt neither got 1st nor 6th position. 

The one who got 9th position sits 

second to the right of the one who got 

6th position. Rakesh Roshan got the 

last position. 

 

Q61. Who amongst the following sit 

at extreme ends of the row? 

A. Rakesh Roshan, Mahesh Bhatt 

B. Anurag Kashyap, Imtiaz Ali 

C. Farhan Akhtar, Mani Ratnam 

D. Imtiaz Ali, Prabhu Deva 

E. None of these 

Ans61. (D) Imtiaz Ali, Prabhu Deva 

 

Q62. How many persons are seated 

between Mahesh Bhatt and Anurag 

Kashyap? 

A. One 

B. Two 

C. Three 

D. Four 

E. None 

Ans62. (D) Four 

 

Q63. Which of the following is true 

regarding Karan Johar? 

A. Karan Johar sits second to right of 

Rakesh Roshan. 

B. Karan Johar is not an immediate 

neighbour of Dibarkar Banerjee. 

C. Karan Johar sits third to right of 

Farhan Akhtar. 

D. Karan Johar sits at one of the 

extreme ends of the line. 

E. Karan Johar’s position is 7th. 

Ans63.(E) Karan Johar’s position is 

7th. 

 

Q64.Rakesh Roshan is related to 

Farhan Akhtar in the same way as 

Anurag Kashyap is related to 

Prabhu Deva. Which of the 

following is Mani Ratnam related 

to, following the same pattern? 

A. Anurag Kashyap 

B. Dibarkar Banerjee 

C. Imtiaz Ali 

D. Mahesh Bhatt 

E. None of these 
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Ans64. (B) Dibarkar Banerjee 

 

Q65. What is position of Prabhu 

Deva? 

A. 3rd 

B. 4th 

C. 6th 

D. 7th 

E. 9
th
 

Ans65. (E) 9
th
 

 
 

Directions (66-70): Read the 

following information carefully. 

And answer the following questions 

given below.  

 

Zθ means the one who earns double 

amount than Z and sits 2nd to the 

right of Z. 

Z± means the one who earns 700 

more than Z and sits immediate left of 

Z. 

Zφ means one who earns 550 less 

than Z and sits 4th to the left of Z. 

Z¶ means the difference between the 

earning of Z and the one who sits 3rd 

to the left of Z is 450. Z earns more 

than that person. 

 

Eight individuals are sitting in a 

queue, some are facing north while 

some are facing south. They have 

different amount of money. Bharti sits 

third to the left of Bhavya. The one 

who sits second to the right of Bhavya 

has 0.5 times money of Bharti.  The 

one who has 2000 less money than 

Baljeet sits second to the left of 

Baljeet. More than four persons sit 

between Bharti and Bakkul who sits 

right of Bhavya. Bikram and Binny 

facing same direction of Bharti. 

Bakkul earns 0.25 times than Baljeet 

who sits fourth to the left of Bittu. 

Baljeet neither immediate neighbour 

of Bharti nor Bakkul. Binny sits third 

to the right of the one who sits second 

to the left of Bharti.  Bhavna and 

Binny facing same direction as Bharti. 

Binny does not face north. Bhavna 

sits opposite direction of Bhavya and 

sits left of Bhavya. The one who has 

2500 rupees sits immediate left of 

Bittu who is facing same direction as 

Bakkul.  

 

 

 

Q66.Bittu has how much money, if 

the code is ‘Bittu±’? 

A. 3000 

B. 1800 

C. 6500 

D. 1050 

E. None of these 

Ans66. B. 1800 

 

 

Q67. What is the total money of 

Bikram, Bhavya and Bhavna, if 

code is Bikramθ, Bakkulφ and 

Baljeet±? 
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A. 17500 

B. 15000 

C. 10000 

D. 12400 

E. None of these 

Ans67. D. 12400 

 

 

Q68. Who among the following sits 

third to the right of Binny? 

A. the one who sits second left of 

Bhavya. 

B. the one who has 1.4 times more 

money than Bharti. 

C. the one who has double money of 

Binny. 

D. The one who has 3500 more 

money than Binny. 

E. None of these 

Ans68. B. the one who has 1.4 times 

more money than Bharti. 

 

 

 

Q69. What is the difference of the 

money of Bikram and Bhavna if the 

code is ‘Bikram¶ and Bhavnaφ’? 

A. 250 

B. 300 

C. 400 

D. 700 

E. None of these 

Ans69. E. None of these 

 

Q70. Who among the following sits 

second to the left of Bittu? 

A. Bharti 

B. Bhavya 

C. Bhavna 

D. Baljeet 

E. Bikram 

Ans70. E. Bikram 

Explanation (66-70): 

 

 
 

Direction (71-75): Read the 

following information carefully. 

And answer the following questions 

given below. 

There are 12 passengers sitting in two 

concentric circles. Riya, Peehu, Ruhi, 

Siya, Kiara and Aashi are sitting in 

the inner circle and facing outside 

(away from the centre). Vikas, Virat, 

Raj, Manav, Mayank and Sajan are 

sitting in the outer circle and facing 

inside. 

Kiara is not the neighbor of Siya. The 

one who is facing Mayank is sitting to 

the immediate left of Siya. The 

number of passenger sitting between 

Sajan and Manav is equal to the 

number of passenger sitting between 

Raj and Virat. Manav is facing Kiara 

who is to the opposite of Peehu. Ruhi 

faces Sajan, who is not a neighbor of 

Mayank. Riya, who is facing Raj is 

sitting 3rd to the right of Siya. The 

one who is sitting to the immediate 

right of Riya is facing Virat. 
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Q71.How many passengers are 

sitting between  Mayank  and 

Vikas, if we count clockwise from 

Mayank? 

A. 1 

B. 2 

C. 3 

D. 4 

E. None 

Ans71. E. None 

 

Q72. Who is facing Riya? 

A. Vikas 

B. Virat 

C. Raj 

D. Manav 

E. Mayank 

Ans72. C. Raj 

 

Q73. Who sits to the immediate 

right of Peehu? 

A. Riya 

B. Ruhi 

C. Siya 

D. Kiara 

E. Aashi 

Ans73.3. Siya 

 

Q74. If Mayank and Raj 

interchange their position, then who 

sits to the immediate left of Raj? 

A. Vikas 

B. Virat 

C. Manav 

D. Sajan 

E. None of these 

Ans74. A. Vikas 

 

Q75. If all the passengers of outer 

circle are arranged alphabetically 

from Manav (excluding Manav) in 

clockwise direction then how many 

passengers position remains 

unchanged? 

A. One 

B. Two 

C. Three 

D. Four 

E. None 

Ans75. A. One 

Explanation (71-75): 

 

 
 

Directions (76-80): Read the 

following information carefully. 

And answer the following questions 

given below. 

An uncertain number of birds sitting 

in a straight wire facing north. Three 

birds sit between K and O. N sits 

second to the right of K. Only three 

birds sit between O and I. H is 

immediate left of K. N sits fifth from 

one of the extreme ends of the row. 

As many birds sit between N and J as 

many between J and I. G sits second 

to the left of C, who is an immediate 

neighbor of O. Not more than two 
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birds sit between C and I. Five birds 

sit between I and B. As many birds sit 

between I and A as many between A 

and B. 

 

Q76. How many birds sitting in a 

straight wire? 

A. 20 

B. 18 

C. 23 

D. 14 

E. None of these 

Ans76. (E) None of these 

 

Q77. Who among the following bird 

sits fourth to the right of A? 

A. G 

B. C 

C. I 
D. O 

E. None of these 

Ans77. (A) G 

 

Q78. How many birds are sitting 

between C and N? 

A. Two 

B. Five 

C. Three 

D. Four 

E. More than five 

Ans78. (E) More than five 

 

Q79. If Q is an immediate neighbor 

of H then who among the following 

bird sits second to the left of Q? 

A. K 

B. C 

C. O 

D. J 

E. None of these 

Ans79. (C) O 

Q80. Four of the following five are 

alike in a certain way based on a 

group, find the one that does not 

belong to that group? 

A. I-C 

B. J-K 

C. N-H 

D. A-G 

E. O-G 

Ans80. (D) A-G 

Explanation (76-80): 

 
 

Direction (81-85): Read the 

following information carefully. 

And answer the following questions 

given below. 

Six teddies of different colors are 

arranged around a triangular table. 

Teddies who are sitting at corner are 

facing outside the table and the 

teddies who are sitting at middle of 

the table are facing towards the table. 

Red teddy arranged second to the 

right of white teddy. Only one teddy 

sits between purple teddy and yellow 

teddy. Yellow teddy sits second to the 

left of pink teddy, who does not sits 

on the immediate right of red teddy. 

Peach teddy does not face inside. 

Yellow teddy does not sits on the 

immediate left of Peach teddy. 
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Q81. Who sits immediate left of 

white teddy? 

A. Red teddy 

B. Yellow teddy 

C. Purple teddy 

D. Peach teddy 

E. None of these 

Ans81. E. None of these 

 

Q82.Which teddy is arranged 

between Red teddy and Peach teddy 

when counted from the right of red 

teddy? 

A. Yellow teddy 

B. Purple teddy 

C. Pink teddy 

D. White teddy 

E. None of these 

Ans82. B. Purple teddy 

Q83. Four of the following five are 

alike in certain way based from a 

group, find the one which does not 

belong to that group? 

A. Red and Purple teddies 

B. White and Purple teddies 

C. Peach and Yellow teddies 

D. Pink and Red teddies 

E. Purple and Yellow teddies 

Ans83. E. Purple and Yellow teddies 

Q84. Which among the following 

teddy sits second to the left of one 

which third to the left of Peach 

Teddy? 

A. Red teddy 

B. Pink teddy 

C. White teddy 

D. Purple teddy 

E. None of these 

Ans84. D. Purple teddy 

Q85. Which among the following 

pair represent the immediate 

neighbours of red teddy? 

A. Yellow-Peach teddy 

B. Yellow teddy – purple teddy 

C. Pink teddy – purple teddy 

D. White teddy – peach teddy 

E. None of these 

Ans85.  B. Yellow teddy – purple 

teddy 

Explanation (81-85): 

 
 

Direction (86-90): Read the 

following information carefully. 

And answer the following questions 

given below. 

Eight girls- Sia, Nia, Ria, Dia, Pia, 

Mia, Jia and Tia are sitting in a circle 

facing the centre. All eight girls are 

from different place i.e. Pune, 

Mathura, Jaipur, Agra, Gujarat, 

Rampur, Banaras and Ooty but not 

necessarily in the same order.  

Pia is sitting third to the left of Jia. 

The girl who is from Mathura is to the 

immediate right of Pia and Pia is not 

from Pune. Nia is sitting fourth to the 

right of Tia. Tia is not the neighbor of 

jia. Neither Nia nor Tia is an 

immediate neighbor of Pia. Mia is 
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from Agra and is sitting third to the 

right of the girl from Mathura. The 

girl from Rampur is sitting second to 

the left of girl from Agra. The girl 

from Banaras is sitting second to the 

left of Pia. Sia who is Jaipur is sitting 

exactly between Mia and Tia. The girl 

from Gujarat is sitting second to the 

right of the girl from Jaipur. Ria is 

sitting third to the left of Mia.  

 

 

Q86. Who amongst the following 

girls belongs to Pune?  

A. Jia 

B. Dia 

C. Ria 

D. Nia 

E. None of these 

Ans86. A. Jia  

 

Q87. What is Sia’s position with 

respect to Nia?  

A. Third to the right  

B. Second to the right  

C. Third to the left  

D. Second to the left  

E. Fourth to the right 

Ans87. A. Third to the right  

 

Q88.How many girls are sitting 

between Tia and Ria when counted 

anticlockwise direction From Ria?  

A. One  

B. Two  

C. Three  

D. Four  

E. None 

Ans88. D. Four  

 

Q89. Four of the following five 

pairs are alike in a certain way 

based on their positions in the 

above arrangement and so from a 

group. Which of the following does 

not belong to that group?  

A. Nia - Banaras  

B. Tia - Rampur 

C. Dia - Pune  

D. Jia - Gujarat  

E. Mia – Mathura 

Ans89. E. Mia – Mathura 

 

 

Q90. Which of the following 

statements is false according to the 

above mentioned arrangement?  

A. Ria is to the immediate right of 

the Ooty.  

B. The girl from Jaipur is third to 

the right of the girl from 

Rampur.  

C. The girl from Mathura is sitting 

exactly between the Ooty and 

the Gujarat.  

D. Dia is neither from Agra nor 

from Ooty.  

E. There are only three people 

between Sia and Ria. 

Ans5. C. The girl from Mathura is 

sitting exactly between the Ooty and 

the Gujarat.  

Explanation (86-90): 
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Directions (91–95): Read the 

following information carefully. 

And answer the following questions 

given below. 

 

Eight Rabbits R1, R2, R3, R4, R5, 

R6, R7 and R8 are standing in a row 

facing north. All are standing at a 

distance of 1km, 2km, 3km, 4km, 

5km and 6km from their immediate 

neighbor’s but not necessarily in the 

same order. 

Two rabbits are at a same distance of 

5km from their immediate neighbor’s. 

Rabbits R2 is 3km left of Rabbits R3 

and 6km away from Rabbits R6. 

Rabbits R2 is standing immediately 

between Rabbits R5 and Rabbits R7 

at 5km and 2km respectively. Rabbits 

R8 is 4km left of Rabbits R5. Rabbits 

R3 is second to the left of Rabbits R4. 

Rabbits on the extreme left is 10km 

away from R5. Rabbits R8 starts 

moving towards the south and after 

going 3km it takes right turn and 

going 2km and reached point Z. 

Another rabbits R9, which moves 

more than 3km but less than 8km 

towards the north of point Z (also 

divisible by 3), going Y km towards 

east and stops at point P. If Y is the 

shortest distance of rabbits R1 and 

rabbits R8’s last position. Rabbits R3 

moves 3km towards north direction, 

and then takes a left turn and goes 

5km straight. Then it turns again to its 

right direction and moves another 

7km and stops at point X. 

 

Q91. How many rabbits are there in 

between rabbits ‘R5’ and ‘R4’? 

A. Two 

B. Five 

C. Six 

D. Four 

E. None of these 

Ans91. D.Four 

 

Q92. Which rabbits will be met 

first, if rabbits ‘R3’ starts moving 

in the West direction? 

A. R2 

B. R5 

C. R7 

D. R1 

E. R8 

Ans92. C. R7 

 

Q93. What is the shortest distance 

between rabbits ‘R6’ and rabbits 

‘R8’? 

A. 10km 

B. 12km 

C. 14km 

D. 15km 

E. 16km 

Ans93. D. 15km 
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Q94. What is the shortest distance 

between rabbits R9 and rabbits R3 

from their new positions? 

A. 4km 

B. √63km 

C. 13km 

D. √65km 

E. None of these 

Ans94.D.   √65km 

 

 

Q95. What is the new position of 

rabbits ‘R8’ with respect to the 

rabbits ‘R1’? 

A. North – West 

B. South – West 

C. South – East 

D. East 

E. North 

Ans95.C. South – East 

 
 

 

Directions (96-100): Read the 

following information carefully. 

And answer the following questions 

given below.  

 

Eight family members are sitting in a 

row, some of them are facing north 

while some are facing south direction. 

There are three generations in the 

family. 

 

Ramesh is grandfather of Neha and 

sits fourth to the right of his son. 

Pawan’s mother sits third to the left of 

Pawan’s husband. More than three 

persons sit between Ramesh and 

Sandy. Gagan and Ramesh are facing 

opposite directions. Neha sits third to 

the right of her mother. Nitin is son-

in-law of Lovely. Ramesh does not sit 

at ends. Neha is not an immediate 

neighbour of Ramesh. Gagan is father 

of Neha and sits second to the left of 

Neha. Vaishali is sister-in-law of 

Pawan and sits third to the right of her 

father-in-law. Ramesh’s wife sits 

second to the right of him and both 

are facing opposite direction to each 

other. Neha and Sandy are cousin, and 

both are unmarried. Lovely has one 

son and one daughter. Three persons 

are sitting in between sandy and his 

mother. Pawan sits fourth right of 

sandy who is facing opposite direction 

of Pawan. Gagan’s wife facing south. 

Pawan is married to Nitin. 

 

Q96. Who among the following sits 

fourth to the right of Ramesh? 

A. Gagan 

B. Vaishali 

C. Pawan’s father 

D. Neha 

E. Nitin 
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Ans96. A. Gagan 

 

 

Q97. Who among the following is 

child of Vaishali? 

A. Ramesh 

B. Nitin 

C. Sandy 

D. Gagan 

E. Neha 

Ans97. E. Neha 

 

 

Q98. How many persons sit in 

between Ramesh and his daughter? 

A. Two 

B. None 

C. Four 

D. Three 

E. More than Four 

Ans98. B. None 

 

 

Q99. What is the position of Sandy 

with respect to his aunt? 

A. Immediate left 

B. Fourth to the right 

C. Third to the left 

D. Second to the right 

E. None of these 

Ans99. D. Second to the right 

 

Q100. Four of the following five 

from a group, which among the 

following does not belong to this 

group? 

A. Sandy 

B. Lovely 

C. Vaishali 

D. Pawan 

E. Neha 

Ans100. A. Sandy 

Explanation (96-100): 
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